
Quiz 5

11/07/2018

Name:

Instructions: Show your work. Circle your final answers. The quiz has two pages.

1. Consider a linear map f : R3 → R3,

f(x, y, z) = (x+ z, y + 2z, −2x+ y) .

(a) Write the matrix representing f .

(b) Given that the reduced row echelon form of the matrix in Part (a) is



1 0 1
0 1 2
0 0 0




Determine a basis of ker(f) and the dimension. Is f injective?
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(c) Determine a basis of range(f) and the dimension. Is f surjective?

2. Let

E =

�
−1 1 2
3 0 −2

�

What is the linear map matrix E represents? (Write the domain, target set, and an explicit
formula of the map.)

2


